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Question 1

Question Type: MultipleChoice

You work as a desktop administrator for BlueSkwer.com. You are logged on to a Windows 7 computer with administrator rights. You
have run the 'netsh interface IPv6 show interface' command which displays the following:

58 42924967295 connected
58 1288 disconnected

25 1288
28 1588 connected

What is the first interface index used for?

Options:

A) 6to4 tunneling
B) MAC address
C) Intra-Site Automatic Tunnel Addressing Protocol

D) Loopback

Answer:




Question 2

Question Type: MultipleChoice

You work as a desktop administrator for BlueSkwer.com. You are logged on to a Windows 7 computer with administrator rights. You
have run the 'netsh interface IPv6 show interface' command which displays the following:

MIU

58 4294967295

1288
1288
1588 connected

What is the first interface index used for?

Options:

A) 6to4 tunneling
B) MAC address
C) Intra-Site Automatic Tunnel Addressing Protocol

D) Loopback



Answer:
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